
Canberra P R Mk 9 Page GE.1 

MAIN PLANE 

FLAPS 

Class 

of 
Part No. Description No, Material Eqpt-. Plate 

off Specification | M.R. 

or 
2 Bl ok Be L.M. 

EBs.25.1 FLAP, Inboard, Port, Group 1 - P GAL/35 
EBB.25.2 FLAP, Inboard, Starboard, Group 1 a P Gal /36 

Spares for! 

EA1L.25.63 BOLT, flap operating control attachment 2 §11 € GAlL/37 
EAL.25.67 WASHER, bevel, flap control bolt 4 Ll or L40 La GA1L/38 

Attachment of bolt and washer to flap 

structure 

A27/JS Nut, slotted, 3/8 in. BSF 2 = C GAL/39 

SP90/c8 Pin, split, 1/16 in. dia Z es Cc GAlL/40 
AGS160/F Washer, 3/8 in. (Pre AS 4751) 2 - c Gal /41 
SP122/1 Washer, 3/8 in. (AS 4751) l = c GAL/42 

EEAS28/37EU Washer, 3/8 in. (AS 4751) 1 - Cc GAL/43 

Attachment of flap group to main plane 

EAL.25.265 Bolt, hinge attachment to wing Z S15 c GA1/44. 

A27/JS Nut, slotted, 3/8 in. BSF 2 - c GAL/45 

SP90/C8 Pin, split, 1/16 in. dia 2 * € GA1/46 
SP10/J Washer, 3/8 in. 2 i c GAL/47 
EAl.25.43 Washer, spherical, outboard hinge attachment 2 $11 c GAL/4& 

to wing 

EA9.25.1 FLAP, Outboard, Port, Group (Leading edge to be Es = P GA1L/49 
chamfered on assy) 

EA9.25.2 FLAP, Outboard, Starboard, Group l =o Pp GA1L/50 

(Leading edge to be chamfered 
on assy) 

Spares for: 

EAl.25.63 BOLT, flap operating control attachment 2 $11 c GAL/51 
EAL.25.67 WASHER, bevel, flap control bolt 4 Ll or L40 CG GAL/52 

Attachment of bolt and washer to flap 

etructure 

A27/J5 Nut, slotted, 3/8 in. 2 - Cc GAL/53 

SP90/c8 Pin, split, 1/16 in. dia 2 - c Gal /54 
AGS160/F Washer, 3/8 in. (Pre AS 4751) 2 - Cc Gass 
SP122/J Washer, 3/8 in AS 4751) 1 = c GAL/56 
EEAS28/37EU Washer, 3/8 in. 6as 4751) l - c GAl/57 

Attachment of flap group to main plane 

EAL.25.265 Bolt, hinge attachment to wing 2 S15 Cc GAL/58 
A27/JS Nut, slotted, 3/8 in 2 - c GAL/59 
SsP9o/cs Pin, split, 1/16 in. dia 2 - c Gal /60 
AGS160/F Washer, 3/8 in. 2 ad c GA1/61 

EAL.25.43 Washer, spherical, outboard hinge to wing 2 S11 Cc GAl/62 

A.L. No. 42 Sep 1986 


